NPN SILICON TRANSISTOR
13002
i i
4 100mm
D142AG-00
240+ 20pm
1420% 1420pm*
B 300x245um” E  350x245um?
KSE13002 HE13002
B T,=25 TO-126
Tstg—— -65~150
T— 150
P T=25 30W
Vego—— — 600V
Vecpo—— — 400V
VeEBo—— — CAY
Ic DC 1.5A
0 T,=25 TO-126
BV¢so — 600 V | Ic=lmA 1z=0
BVcro — 400 V | Ic=10mA Ig=0
BVEso — 9 V | I=lmA I=0
hre 10 40 V=10V 16=0.1A
Vg(sat) — 1.8 V | I=1A [3=200mA
0.8 V | 1c=0.5A Iz=100mA
Vgg(sat) — 1.2 V | 1c=0.5A Iz=100mA
Icso — 10 HA | Veg=500V  Ig=0
Ieso — 10 HA | VEg=9V Ic=0
fr 8 MHz | Vcg=10V  1¢=0.1A
f=1MHz
ton 11 usS Vee=125V  Ie=1A
tstG 4.0 uS Ig;=-15,=0.2A
tp 07 usS R =125Q




